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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) qfteneff Feuerm ST WyH-uE ot A it o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.
2) | uwd sifErd € |
All the questions are compulsory.
3) et v &1 I @ T8 I-gre # @ ford |
Write the answer to each question in the given answer-book only.
4) mgﬁ%mwﬁ,mmﬂ%m@ma%@ 1

For questions having more than one part, the answers to those parts are 10

be written together in continuity.
5) W*W%Wa@ﬁmﬁ%@mﬁgﬁ[m / Feremme R W &=

T91 % U9 FI Hal T |

If there is any error / di

the question paper, the questio
6) o T T v R g S o g v el

Write down the serial number of the question before attempting 1t
7)  wwE wue 16 | 7 & st faaed € |

Question No. 16 to 20 have internal choice

fference / contradiction in Hindi & English version o

n of Hindi version should be treated valid

E { Turn Over
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SECTION -A

TEE TE
Multiple Choice Questions :
1) Frifen wwl A R o w@ frea w1 e a gw gfer F forfe 18]

. ] . . . ‘ : swer book :
Write the answer of following multiple choice questions In the given ans

]
i) arewm Sl uEs - 4]

() S

(&) Q

(/) Scm™!

(@) Sm™

SI unit of conductivity is -
(A) S

(B) Q

(C) Scm™

(D) Sm™

i) it v § sifadieon s TR FR e a8 - (%]
(31) Mn
@) M
(@) Fe

(@ Cr
Element showing the highest number of oxidation states is -

(A) Mn
(B) Ni
(C) Fe
(D) Cr

SS-41-Chem.
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iii) [Fe(Co),] # Fe @ st 3t 2- [4]

(31) 0

(") +2

®) +3

() +4

Oxidation state of Fe in [Fe(Co) ] is -

(A) 0

(B) +2

(C) +3

(D) +4

iv) THINIgE HTEE w1 THAAE g3 R - 1'4)
() MnO,
(@) Na,Cr,0,
(®) FeCr,0O,
(3) NaJCrO )
The chemical formula of chromite ore is -
(A) MnO,
(B) Na,Cr,0O,
(C) FeCr,O,

(D) T\Ia:CI‘O1
F Turn Over
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Vi)

Number of moles of

(A) 1
B) 2
€ 3
D) 5
mﬁﬁqﬁmﬁama%—
(1) Mn

(/) Fe

(") Co
@ Ni

Metal present in haemoglobin js -

(A) Mn
(B) Fe
(C) Co
(D) Ni

vii) IvEEd ferre g -

(31) CI-
@ H,0
(|) NH,
(q) NO;
Ambidentate ligand is -
(A) CI
(B) H,O
(C) NH,

(D) NO;

https:ffwww.raEsfHan board.com

precipitated AgCJ on adding excess silver nitrate solutior
in the solution of one mole of CoCJ,.5NH. is -

[72]

12}



¥

Vi) e ¥ A 2 -
(37) afafr= fezess
(3) et
(R) F=feegee

(@) IR

The compound obtained from meadow sweet is -

(A) Salicyl aldehyde

(B) Cinnamaidehyde

(C) Valeraldehvde

(D) Vanillin

ix)

co
/ﬁ/, OH
-
S coon

=1 [UPAC 7m § -

(3) UfeTs v

() F=MH-1, 2- SEFETFaEE
(@) a=iA-1, 2- 3T 1A

(8) whe-1, 2- SEEEiaacs W

COOH
/%

IUPAC name of || is -

=
\/\COOH

(A) Phthalic acid

(B) Benzene -1, 2- dicarboxylic acid

(C) Benzene -1, 2-dioic acid

(D) Phenyl -1, 2- dicarboxylic acid

SS-41-Chem.
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x) Wttt anra sfafEm & it g & 70 ypapeen 8 TP TN 2 -
(¥) sp? A sp
() sp A sp’
(R) sp’ A sp’
() sp’ A sp’
Change occurs in hybridisation state nfcarl!‘ﬂyl carbon In nucleophilic add:t
reaction is -
(A) sp’ to sp
(B) sp to sp’
(C) sp’ 1o sp’
(D) sp' 1o sp

xi) greufuemit: 4 avgzram € wem s ? )

(3) sp

(|) sp’

(R]) sp’

(x) dsp’ -

The hybridisation state of nitrogen intrimethylamine 15 -

(A) sp

(B) sp°

(C) sp’

(D) dsp’

redra faera T Wit R g 7o e 9 - 1
(R) (C,H)\N

(@) (C.H).NH

(m) C.H\NH,

() NH,

The compound showing highest basic strength in aqueous solution
(A) (CH)N

(B) (C.H)NH

X11)

() C.HNH,
(D) NH.
031
SS-41-Chem. (=03
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i) Prefafem 3 Rdvae w2 - 1%]
() o -2- Wfe
(@) =2 -3- ol
(") N - aftrwenfia
(@) N,N- seafemaad
Secondary amine among the following is -
(A) Propan -2- amine
(B) Pentan -3-amine
(C) N-Methylethanamine
(D) N,N-Dimethylmethanamine

xiv) MirHr odm  - (2]
(%) sgferm
(@) fwfa
(W) mmafs
(3) ==

Globular protein is -
(A) Insulin
(B) Keratin
(C) Myosin
(D) Collagen

XV) TIHEE - 14}
(N) T Veu=rE
(@) = HEHE
(A) U= UoSieaEE
(3) Tw HRRFEE
Glucose is -
(A) An aldopentose
(B) A ketopentose
(C) An aldohexose
(D) A ketohexose

" : 503
SS-41-Chem. E | Turn Oner
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xvi) @ v § -

() wm

(@) A=W
(/) uww
(*) R
Milk sugar is -
(A) Sucrose
(B) Lactose
(C) Maltose
(D) Galactose

2) T vt 6 ooff St -
Fill in the blanks - [5]
i) weRmrzeE........ 21 ' [72]

The unit of molarity is

i) HFrrmeminddawsa ... 2 [¥3)

The mathematical form of Henry's Law is

iii) RS el & el s fi o sty w2 [¥]

The kinetic energy of maximum fraction of reactant molecules is called

V) eeereeeeeeneeeaeeenns ﬂﬂ%ﬂhﬁhﬁﬁﬁﬂﬁﬂﬁﬁ?]

1]
and actinoids are called as inner transition elements.

v) K,[Fe(CN)]J# ............... g U ¢ | 1'4]
is coordination sphere in K [Fe(CN),].

vi) afRfer dehgieil 4 —-OHwg ... .. d¢fa s A sl am | 1%
In benzylic alcohols -OH group is bonded with hybridised carbon.

§S-41-Chem. 5033
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vil) o mﬁw@lﬁﬁ'ﬂ?imvwfﬁﬁaﬁaﬁm%l [“]
Glucose is converted to ethanol in Presenceof ~ enzyme.

viii) Hifam e I o BRI AT R | 4]
Sodium benzoate is used as

) frafR . HFHAW-W AT ]
Deficiency of vitamin causes Beri-Beri disease

X) RNAHTufRmRwFR® AT ..o 3 [“]
The name of Sugar present in RNA is

AT YIS T ¢

Very short answer questions : [8]

i) wqw faeEm = aienfva Ak | (1]
Define saturated solution.

i) wifEam e ferem # suflm frdm aun femas % wm R ) [Vatva=1)
Write names of solute and solvent present in sodium amalgam solution.

i) %= K[A][B) sl am wives areh afifven 1 ot SR aftwfom St 1[1)
Rate = K[ A]% [B]% Calculate the overall order of a reaction which has above
rate expression.

iv)  sermgi s aftfi ¥ o Waia # woflm - OCH, g = Frivh wama
foRau | [1]
Write directive influence of = OCH, group present in anisole for
electrophilic substitution reaction,

V) e A 9@ & a ARG R ST AR srsi et am ffee - (1)

Write chemical name of white Precipitate obtained on the reaction of phenol
with bromine water.

58-41-Chem. { Turn Over
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vi) NH,-NHCONH, # TaTateE g Rt |

Write chemical name of N I,-NI 1CON! l,
) Feara @ A ey,

a
vii) mﬁﬁﬁﬁﬂﬂm&ﬁ!%%ﬂmw | (he reaction betweg,

. . .4 fron
Write name of the product nbt.‘llntd ’
benzenediazonium chloride and pheno!-

viii) mw&&vmuﬂmm“' i
Write isocyanide test for primary amin€s:
gy - A
SECTION - B
YIS T ¢ o
[12x1%=18]

Short answer type questions :

4) AR A % 0.5 vt qen a3 % 4.5 Wt i e w0 o 73 e 6 18 A & WA s @
T T | 1%

Calculate the mole fraction of gas A in the solution made on mixing 0.5 moles of
gas A and 4.5 moles of gas B.

0.05 Tiret vdArEE 3t 250 A=A 1 gfea 21 faerm i e & o $ifw | 1Y)

3)
0.05 moles of ethanoic acid is dissolved in 250g benzene. Calculate the molality of
the solution. https://www.rajasthanboard.com )
6) Ta aa w b fifkw)
(LB

Draw the Daniell cell.

7) qa;ma%ﬁaﬁraaﬁﬂ%mw&nfnmmI..%R(uln”x'ilmatfnfwma;ﬁqnmf

morn Hifee | .

. e 1

Rate constant of a first order reaction is Qo _

é is 1.386>10°™ S ' calculate the halfiife o

the reaction. ate the half-lie ¢

8) st diftt & Fd A Nw srfivgmy fafom | e

Write any three physical *'h‘l"'llk'lcrixiim of interstitial compounds.

<S-41-Chem. [‘_"‘_‘,J
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9) Wu@,mgﬂmﬁ“ﬁhmi?m| [1%4]

Why transition metals exhibit catalytic Properties? Explain.

10) AR o v @ g ot Cl 'wmmmﬁﬁm_aﬂ!h_
frdves @i 7 www v | 11%]

Despite being an electron withdrawing group why Cl-group is ortho-and para-
directing in electrophilic aromatic substitution? Give reason.

OH
11) @ wiz HINO, [A]
I Afufea § [A] =1 IUPAC 3w aon i g3 e | [% + Y%= 1%4]
OH

Conc. TINO, > [A]

Write IUPAC name and chemical formula of [A] in the above reaction.

12) 413k T T wdter 2 g H, SO, 3 wet ol 7w A [x] o 31 o] = TUPAC =
ik Pafta o o T weid forf | ] 1+1=1%}
Compound [x] is formed on heating ethanol xyilth conc. H,SO s at 4.1 3k temperature.
Write [UPAC name of [X] and chemical equation of the reaction involved.

13 O (- B

e siffaeen s i [A] 3 [B] F TS 72 R %+ %= 1%)

’ naOH. hedl
@ Oleum [A]___‘_L’_%sﬁ.-"'"} [B]

nd (B in above reaction sequence,

1 -l-“,,.r,f'hi"

https://www.rajasthanboard.com

Write chemical formula of [A]2
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14) Mﬂmmﬂm%mwﬂﬁﬂ' A

Compare basic strength of aniline wigh gmmonia-

15) DNA $ Rgreer wram ®) feft SR | WA

Draw the double strand helix structure of DNA-

gy - 4@
SECTION -C

Hd I e

Long answer type questions :

16) i) ffwra ) Fifz 7 cfeafea Hfve |
i) Tw wum HI A arffEm w Iug IO IF TAR |
[1+2=3]

1)  Define order of reaction.
i) Explain pseudo first order reaction by giving appropriate example.
JUEn/OR
i) afufrn §i snfoawm i uftafea Hifeg |
ii) U varaiE e & @ wwt J afran ot S gftm 2 awg |
[1+2=3]
i)  Define molecularity of a reaction.

i) Explain the role of activation energy in the feasibility of a chemical reaction.

17) v s fergwa & anum W wget [Co(NH, ) - 6 wfifa ARG TR R g 3]

Explain the geometry and the magnetic nature of complex [CO(NH:US* on the
basis of valence bond theory. :

rE/OR

§S-41-Chem. 5033 |
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R s ferg ¥ snum w gt [CoF, | & wafifiy ofk e St 1 Ese |
13]

Explain the geometry and the magnetic nature of complex [CoF ] on the basis of
valence bond theory.

18) wazmw -

) A dee i e ae 3 e s W g 9 el

) EEEEE SEeeEE % p-mmmo-aﬁ?m-mmu%ﬁﬁgﬁmﬁ
e g

i) fat e ot i w0 Yt frsm wda yao sl A R )

[1+1+1=3]
Explain -
i)  The boiling points of isomeric haloalkanes decrease with increase in branching.

ii) The melting point of p - isomer is higher than those of o - and m - isomers of
isomeric dichlorobenzenes.

i) Theracemic mixture of a optically active compound is always optically inactive.
Fua/OR

Ereffaa =t T ug § uRafda i -

i) FEREASA A TEERE
i) i A v
11+|+I=3]
Convert the following in single StP~ (Write chemical equation only)
1) Benzenediazoniumch!oride to iodobenzene.

i) Chlorobenzene to diphe“}fl'

) Chloroethane to ethene

m | Furn {hver
$8-41-Chem.
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SECTION - D
2 TON -7

Essay type questions :

19) i mmmﬁmmmmi
[2+2=4]
1)  Describe the construction of standard hydrogen electrode.
)  Write equations of cell reactions taking place at anode and cathode during
use of dry cel].
W OR
1) mqﬁwg%zﬁﬁﬁﬁéwﬁm#m&?mﬁm|
ii) mﬁm#mammm?mmmﬁﬁyﬁMm#mﬁm
f=fo | 12+2=4]
1)  How does corrosion of iron occurs in presence of water and air? Describe.
n)  Write equations of cell reactions taking place at anode and cathode during
use of mercury cell.
20) i) FE-EEF ITE E A A w1 UPAC Tm fafan |
iy FrAm wfatEa = sugw TEEtE g TIATEY |
i) CH;CooNa—=="1> [A]~ Na,CO, 7w sifafdan & [A] w mremafres T3
fafig |
[1+2+1=4]
i)  Write IUPAC name of an acid present in red-ant sting.
ij)  Explainthe Cannizzaro reaction by gjving suitable chemical equation.
iii) CH.CooNa—"2L5[A]+ Na,CO,. Write chemical formula of [A]in
above reaction.
Fr/0OR
§S-41-Chem-
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) fou o sufem ama @ [UPAC 7w foie |

i) A ST Y I TSI T I WA |
[1+2+1=4]

Co (I N [Z]

fdtm ALCT, /CuCl

Sairn s & [Z] T vt g o |
)  Write JUPAC name of an acid present in vinegar. |
table chemical equation.

: ' iving sul
i) Explainthe Rosenmund reduction by giving

_ o, (7]

An]lyd_ A]Cl,l{:uﬂ
1)

rmula of [Z] I above reaction.

Write chemical fo

0000
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